
4th Grade Math Homework Week 16 

Name         

Monday: Tuesday: Wednesday: Thursday: 

32 ÷ 4= 

320 ÷ 4= 

3,200 ÷ 4= 

 

Find the quotient and 

remainder 

 

           49 ÷ 9 = 

 

72 ÷ 9= 

720 ÷ 9= 

7,200 ÷ 9= 

 

 

There are 22 pumpkin cookies 

to share after dinner.  If we 

split them equally with 4 

people, how many cookies will 

be left over?   

Write a division equation 

that represents the 

picture.  

 

The post office has 75 pieces of 

junk mail they want to split evenly 

between 8 mail trucks. How many 

extra pieces of junk mail will they 

have if they give each truck the 

same amount? 

 

 

 

A hot dog stand sold 3,600 hot 

dogs at 9 baseball games.  If 

they sold the same amount at 

each game, how many did they 

sell at one game? 

 

 

 

 The Library has collected 37 

used books to give away.   If they 

can fit 10 books in a box, how 

many boxes will they need to fit 

all of the books? 

 

 

 

 

 

 

63 ÷ 9 = _____ 

 

 

54 ÷ ____= 6 

 

 

32 ÷ 4 = _____ 

 

 

55 ÷ _____  = 11 

Which is a way to use the 

Distributive Property to 

break apart the dividend to find 

the quotient of 

96 ÷ 3 = ? 

 

A. (900 ÷ 3) + (60 ÷ 3) 

B. (90 ÷ 3) + (6 ÷ 3)  

C. (60 ÷ 3) + (9 ÷ 3) 

Linus has 160 baseball cards he 

wants to give to his 4 cousins.  If 

he divides the cards equally, how 

many cards will he give to each 

cousin?  

 

Which is a way to use the 

Distributive Property to 

break apart the dividend to find 

the quotient of 

356 ÷ 4 = ? 

 

A. (300 ÷ 4) + (65 ÷ 4) 

B. (350 ÷ 4) + (50 ÷ 4) + (6 ÷ 4) 

C. (320 ÷ 4) + (36 ÷ 4) 

 

 

 

Solve. 

18 ÷ 5 = 

 

Georgia made goodie bags for 

her friends. She evenly split 

48 pieces of candy into 6 

bags. How many pieces of 

candy are in each bag? 

There are 5 pencils in a box. 

How many boxes can be made 

from 47 pencils?  

 

 

 

 

 

 

 

 

What is the dividend? 

 

____ ÷  24 = 8 

There are 18 kids playing 

tag. They make 3 teams.  

How many kids can be on 

each team?  

A volunteer at a can food drive is 

placing donated cans into boxes. 

She has 56 total cans to box. 

Each box can hold 10 cans. How 

many boxes will she need for all 

the cans? 

 

 

 

 

 

Mrs. Lingerfelt is making cookies 

for her students. She needs 6 

cups of chocolate chips per batch. 

How many batches of cookies will 

she be able to make with 26 cups 

of chocolate chips?  

 

 

 

 

 

Solve 

 32 ÷ 6= 

 


